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Fall "06/MAT 220/ Worksheet 6

1. (4pts) Ewvaluate without using the caleulator:
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2. (4pts) Solve the following equations by turning them to exponential form:
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3. (6pts) Suppose $2.000 is invested into an account paying 6.21% compounded monthly

a) How much is in the account in two and a half years?

b) How long will it take until the account is worth $5,0007
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(4pts) At what nominal rate compounded continuously must money be invested fto
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5. (6pts) The US population is 300 million today and grows according to the model
P = Py (pg. 313) at the continuous compound rate or growth of 0.85%.

a) Write the function that describes the US population (in millions) ¢ years from now. Then
graph the function here.

b) How long until the US population reaches 400 million?
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6. (6pts) Radioactive substances decay according to the law @ = Qpe™ (pg. 313). A ra-

dioactive isotope of carbon, carbon 14, takes 5600 years to decay to half the original amount
(that is, the half-life of C14 is 5600 years).

a) Find the continuous compound rate r of decay for Cl4.
b) How long until a sample of C14 decays to one-third of the original amount?
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